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4.

What are the ion concentrations that result when 1.0 X 10~ mol of K,PO, is dissolved

to produce 1.00 x 102L of solution?
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5.

What will be the [CI”] when equal volumes of 0.10M NaCl and 0.20M AICl, are combined?
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3.0x107°M 1.0 x 10°M
1.0 x 107°M 3.0 x10°M
75 % 107*M 25 x107*M
3.0 x107°M 1.0 x 107°M

035M
0.15M
0.30M
0.70M

6.
What is observed when equal volumes of 0.2 M CuSO, and 0.2M Be(NO,), are mixed?

BeSO, precipitates.

No precipitate forms.

Cu(NO,), precipitates.

Both BeSO, 2nd Cu(NO,), precipitate.
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7.
What happens when equal volumes of 0.2M Na,SO, and 0.2M CaS are mixed?

A. Only Na,S precipitates.
B. Only CaSO, precipitates.
C. Both CaSO, and Na,S precipitate.
D., No precipitate forms.
Al
B.2
C.3
D. 4
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12.

Which of the following solutions could be used to separate the anions SO 4~ and CO,*" from each
other by precipitation?

A. NaNO,(aq)

B. AgNO,(ag)
C. Fe(NO,),(aq)
D. Ba(NO,),(aq)

Al

B.2

C.3

D.4

13.

What is the K, expression for Zn(OH),?
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14.

Given the precipitation reaction:

What is the

A Wau
B. K, =
C. Ky =
D. K, =
Al
B.2
C.3
D. 4
15.

Na,S(aq) + Fe(NO,), (ag) — FeS(s) + 2NaNO, (aq)

K sp expression for the saturated solution formed?

[Fe* (s ]
[Fes]

[Fe*]s™]

_Hm_mmu_

[Fe* ][]

1

[F* 5]

What is the K, for the salt Pb(IO,), if its solubility is 5.0 x 10°M?
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5.0 x 10712
1.3x 1078
2.5 x107°
5.0 x 1073
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20.

Which relationship can be used to calculate the maximum [Ba®*] that can exist in a
solation of Na,PO, ?
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D. [Ba>]=K, [P0, T
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21.
What will be the effect of adding some solid AgNO, to a saturated solution
of AgCl ?

The AgNO; will not dissolve.

More solid AgCl will dissolve.

More solid AgCl will be produced.

The AgNO, will not affect the AgCl equilibrium.
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22.
Which of the following substances will have the least effect on the equilibrium in a saturated
solution of PbL,(s)?

A HI
B. Na,S
C. NaNO,
D. Pb(NO,),
Al
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C.3

D.4

23.

Consider the solubility equilibrium:
SICO;(s) 2 Sr**(aq) + CO (aq)
The addition of which of the following substances will cause the equilibrium to shift right?

A. HCl(aq)
SrCo, (s)
Na,CO,(aq)
Sr(NO, ), (aq)
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